SET -D
General Ability

d to provide multilingual exposure

1. Which of the following program is launche
to students in Indian Language?

(A} Bhasha Gyaan

(B) Bhasha Samagam
(C) Bhasha Dhan

(DY Bhasha Sangam /7

2. What are required for good teaching?
I Diagnosis
I Remedy
I Direction
IV Feedback
Select the correct answer from the codes given below :
JAYLIL T and IV
" \{B)landll
(C)n, Mandlv &
(D) MI'and IV

3. NMEICT stands for :

_[AY National Mission on Education through ICT <~
(B) National Mission on E-governance through ICT
(C) National Mission on E-commerce through ICT
(D) National Mission on E-learning through ICT

4. Which of the following is Doordarshan's Educational Television Channel?

(A) Gurukul

(B) Gyan Bharati <
/LEj Gyan Darshan

(D) Vidya

5. Which one of the following is the most important elements in teaching?
Relationship between teachers and students

“(B) Subject matter
(C) Teaching techniques and aids used &

(D) Student's knowledge

6. The concept of 'SUPW' was elucidated by?
(A) Adiseshiah Committee
_(BYishwar Bhai Patel Review Committee
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7. A\
(€) Ramamurthi Committee
(D) Sampurnanand Committee

8. Which of the following apex institution involved in the planned and coordinated

development of the teacher education system in the country?
(A) UGC

(B) NCERT
(€)NCTE
(D) NAAC

9. What is the use of text book in a class?
_AA) To achieve learning objectives
(B) To delimit what is to be taught
(C) To explain ideas and concepts e
(D) Set new standards

10. Why is teacher training necessary?
(A) Increase teaching skills &
(B) Understand methods of school organisation
(C) Upgrade knowledge of content
(DYAll the above

11. 10+2+3 year structure of education was proposed by?
(AYEducation Commission, 1964
(B) Ramamurti Committee, 1990
(C) Secondary Education Commission, 1952 ©
(D) University Education Commission, 1948

12. 'National Policy on Education’ 1986 was reviewed by?
(A) Adielsehiah Committee
(B) Iswar Bhai Patel Committee
(€Y Ramamurti Committee
(D) Sampurnanand Committee

13. Which of the following state undertook the innovative project 'Lok Jumbish People's
movement for Education for All'?
(A} Bihar
(B) Madhya Pradesh

(Q,Réjasthan

(D) Uttar Pradesh

14. Which of the following policies was introduced in 19757
{M’Currir:ulum for the 10 year school
(B} Kothari Commission Report
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(C) National policy on education ¢
(D} Radhakrishnan Report

15. The purpose of the textbook is to provide-
AA) A learning material based on a syllabus to a learner &7
(B} A material to teachers to base teaching on
(€) A material forming the basis and content for examinations
(D) Reading and reference materials for the teachers

16. The aim of the Charter Act of 1813 was ?
(A) Government control on education
(B) To make English education common &
ME) To spend money on education
(D) To spread education worldwide

17.NLM stands for
(A}National Literacy Mission «
(B) National Labour Mission
(C) National Liberty Mission
(D) National Literacy Movement

18. What.is Teaching Aptitude?
Possession of requisite abilities to be a teacher 7
(B) Devotion towards the profession
() The desire to excel as a a teacher
(D) None of the above

19. Which out of the following is a better teacher?
(A) The one strictly following the discipplinary guidelines
(B) The one devoting full time to the school
€Y 'The one who is interested in overall development of students =
(D) The one who develops leadership in his students

20. Learning would be meaningful when it s ............ centered.
(A) Curriculum
(B) Society

/(e‘)/Student z

(D) Teacher

21. What is the use of homework?

(A) Helps in preparing next chapter before coming to school
(B) Helps in memorising the previous lessons

Provide students an Opportunity to implement what they have learnt@
(D) To catch up with other students
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1CnNo

Schools have been established to—
; (A) ase number of school in rural areas
Provide good education in rural areas 2
- (C) Complete “sarva shiksha abhiyan”

D) Check wastage of education in rural areas

24. When the students become failed, it can be understood that—
.itﬁ/Tl:le system has failed

(B) The teachers failure
(C) The text-books failure
(D) The individual student’s failure ~

25.RTE Act was implemented in India with effect from
(A)1st April 2009
(B)1st May 2010
(C)1st April 2008
st April 2010 &

26. The National flagship programme of education (SSA) aims at
4&) Universalization of Elementary Education

(B) Universalization of Secondary Education #
(C) Special Education in Primary Schools
(D)Special Secondary Academic Programs

27.In which of the following cities The Water Metro, an integrated water-
transport project has started?
(A) Thiruvananthapuram
(B) Kozhikode
{(C) Kollam
Kochi City

28. Which of the follo d
for Indian anom‘ﬂnsw OCument js unveiled by Niti Aayog having future goals

(4) Strategy for Modery India
(B) New India Mission
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(C} Shreshth Bharat Strategy
(D] Strategy for New India @75

29. Which of the following state has launched the People’s 'Empowerment- Enabling
Transparency and Accountability’ Scheme?
(AYAndhra Pradesh
(B) Karnataka

L(ﬂ/()disha

(D) West Bengal

30. Recently third meeting on National council on India’s nutritional challenge
.was
held on Children’s Day, what is the full form of e-ILA, an initiative related to
Poshan Abhiyan?
/{ﬂ]lncrementa] learning advantage
(B)Induced learning approach
(C)Increased learning aspiration
(D)Incremental learning approach

31. Which of the following ministries organizes Hunar Haat in every district,
starting from New Delhi?
1. Ministry of Minority Affairs
2. Ministry of Culture
3. Ministry of Micro, Small, Medium Enterprises
Choose the correct options of the following:
_{A)1 only
(B)2only ® —
(C)1 and 3 only
(D)All of the above

32. Consider the following statements regarding G20 Summit:
1. G20 is made up of 19 countries and the European Union.
2. G20 shares about 2/3rd of the world’s population and 3/4th of
international trade.
3. Argentina is hosting this year's summit and India will host in 2022,
Choose the correct options of the following:
(A)1 and 2 only
(B)2and 3 only “
(€)1 and 3 only
(DJAll of the above

-

33. World's standard definition of Kilogram, Second & Metre was redefined
recently on which of the following physical constants?
(A)Gravitational Constant
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(B)Planck’s Constant
“(C)Richardson constant
(D)Stefan-Boltzmann constant

34.India among nations that face grave danger to soil biodiversity according to
the study published by-
A (A) Geological Survey of India &
_(BYWWF
(C) ISFR-2017
(D) Forest Survey of India

35.ISR0’s satellite GSAT-7A was recently launched from which space station?
/A —fA) Satish Dhawan Space Centre, Sriharikota, Andhra Pradesh®”
(B) Vikram Sarabhai Space Centre, Thiruvananthapuram (Thumba), Kerala
(€) Abdul Kalam Island, Balasore, Odisha
(D) Baikonur Cosmodrome, Kazakhstan

36. Recently what new name has been given to the Indian Premier League (IPL)
franchise Delhi Daredevils?
(A) Delhi Tigers
(B) Delhi Rangers
(C) Delhi Lions
__[BY Delhi Capitals »

37. Legendary Indian Classical Musician Ustad Imrat Khan belongs to which of the
following Gharana of India?
_{A) ImdadKkhani Gharana
(B) Senia Gharana
(C) Jaipur Gharana
(D) Bishanpur Gharana

38. Universal Children’s Day is observed on-
(A) 14 November <~
_{B] 20 November
(C) 12 December
(D) 24 November

39. The theme of the 2018 World Habitat Day was-
funjcipa] Solid Waste Management
(B) Housing Policies: Affordable Homes
(C) Housing at the Centre
(D) Public Spaces for All
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40. What is the name of the book launched by Prime Minister on the life

famous cartoonist RK Laxman?
(A) Vibrant Laxman
(B) Political Cartoon of Laxman
[(EYTimeless Laxman ~
“ (D) Politics of Cartoon: RK Laxman’s narrative

41. Who is the founder of Google?
(A) Jan Koum and Brian Acton
(B) Larry Page and Jan Koum,
(C) Larry Page and Brian Acton
(DY Larry Page and Sergey Brin

4Z. Which one of the following is not included in the revenue account of union
budget?
(A) Profits and dividends of government departments and public
undertakings
(B) Interest receipts
AC} Small savings
(D) Tax receipts

43.In which of the following projects for the first time, sprinkler irrigation
/[ system has been made compulsory in Rajasthan?

(AYNarmada canal project

(B) Parwan Project

(C) Takli Project

(D) Dholpur Lift Project

44. The machine language of computer is based on-
(A) Boolean algebra
(B) Abstract algebra
(C) Linear algebra
(D)Matrix algebra

45. The total amount of green-house gases produced, to directly and indirectly
support human activeties, is referred to as-
(A} Carbon sequestration
(B) Carbon dioxide index &~
(C}) Carbon capture
(PiCarbon footprint

46.In human trisomy of chromosome number 21 is responsible for-
AR} Down syndrome :

(B) Haemophilia
B22/SET B 7

https://www.jamiastudy.com



(C) Turner syndrome
(D) Klinefelter syndrome

47. Which of the following committees was set up in the India for identification of BPL
families in Urban areas?

(A) Tendulkar committee
(B) Saxena committee
(C) Lakdawala committee
BTHashim committee

48. Who among the following Governer-Generals ridiculed congress as representing
only a ‘microscopic minority’ of people?
rd Dufferin
{B) Lord curzon
(C) Lord minto &
(D) Lord lansdown

49. Arrange the following events in their chronological order and select the correct
answer from the codes given below:

I. Muhammad shah
II. Jahandar shah
L. Alamgir li
IV. Ahmad shah
Codes:
(A)LIILIV,IT =
IL1, IV, 111
(CYyuLaLv
(DYIVILITLE

50. The sultana, Gulabi and Kali Champa varieties in different regions of India are
varieties of which of the following major fruits?
(A) Custard apple
(B) Orange
(C) Guava

,{D}Grapes

51. Who was the chief justice of India when public interest litigation was introduced in
1 theindian judicial system?
(A}M. Hidayatullah <
(BJAM. Ahmedi
A€TP.N. Bhagwati
(D)A.S. Anand

52.0n a construction site, men, women and children are working_ in the ratio _of 9;::1.
Their wages are in the ratio of 8:5:3. If 60 women are working on this site, then
total daily wages of all person is Rupees 2850. Daily wages of a child is equal to -

(A)Rupees 7
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(B) Rupees 5
(C) Rupees 8

;D)ﬂupees 6

53.Mr. A meets Mr. B. B is the father of g son C and a daughter D. E is the mother of A C
is married and has one son. E is the daughter-in-law of B. how is A related to B?

(A}Son ©
(B) Uncle
(C) Nephew

LD}GFandson

54. Pick out the odd one:
(A) MpOn
(B) AdCb
(C) SvUt

}pYVwa o

55.Select  the  related

ﬁq IKMO :: QSUw . ?
(A)YZCE

(B) YA
ﬂﬁ o

(D) YBCE

word/letters from the given  aiternatives:

56. A certain sum of money was divided between A, B and C in the ratio 5:6:9. If A
received Rs. 450 the sum divided was

(A}2000
_kBT1800
(C) 2250
(D)1000
57. BEI: NTA::IRB:?
T pew )
(B)PCR
4ermyL
(D)SIE

58. Find the next number in the sequence: 30, 45, 90, 225, 675

(A)1890
(B)1745
(C) 1845
)
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(D)23625

59. Find the answer of the following:

7+3=421
11+7=477
9+5=445
g+2="7
(A) 444
(B4127
(C) 475
(D)487

‘The average salary of male employees in a firm was Rs. 5200 and that .rJf females
Jwas Rs. 4200. The mean salary of all the employees was Rs. 5000. What is the % of

female employees?
(A)80%L2
0%
(C)40%
(D)30%

(555 x .555 - .555 x .020 +

) 020 x.020)
61. Find the value of (555 » 555 % 555) + (020 x
020 x.020)
Z{A) 1.55
1.74
(C)2.36
(D)5.02

62. Age of mother 10 years ago was 3 times the age of her son. After 10 years, mother’s

age will be twice that of his son. Find the ratio of their present ages.
(A)11:7

daughter's age? years, how many times he would be of his
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(A} 1 (¥2) times
(B) 2 times
(CyZ5 times <
(D) 3 times
64. A watch gain 8 seconds in 4 minutes and was set right at 4 AM. What time will it
show at 11 PM on the same day?
(A) 11:08
(B) 12:38

(C}AT38 ©

(D} 12:08

65. A clock loses 5 minutes every hour and was set right at 11AM on a Monday. When
will it show the correct time again?
_(A¥T1AM on Sunday ©
(B} 11AM on Monday
(C) 11AM on Tuesday
(D) 11AM on Wednesday

66. My watch, which gains uniformly, is 2 min and show at noon on Sunday, and is 4
min 48 seconds fast at 2PM on the following Sunday when was it correct?
_ (A) Wednesday noon
( (B) Sunday 2PM
(C) Monday noon
(] Tuesday 2PM ©

Instruction for Question No. (66-69):

Six friends are sitting in a circle facing inwards.

1. Priti and Ashwini are exactly opposite to each other.
2. Sachin is in between Priti and Dipen.

3. Dipen is immediately to the left of Ashwini.

4. Rishi is not exactly opposite to Dipen.

67. Who are the neighbors of Dipen?
(A) Rishi and Rupesh
_{BY Ashwini and Sachin €
(C) Priti and Sachin
(D) None of these
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68. Who is Sitting opposite to Dipen?

}Mupesh &
(B) Ashwini
(C) Sachin
(D) Rishi

69. Who isjust right to Ashwini?
yRﬁn
(B) Sachin
(C) Ashwini
(D) Rupesh &

70. Pick out the odd one-
(A) Spade
(B) Shovel
(C) Trowel

chder

L

71.In a certain language, if SUNSHINE is coded as TVOTIJOF then how will MOON be

coded:

(A). NPPQ
.NPPOC

(C). PPON

(D). NQQP

72.1In a certain language,
(1) ‘hu ma sam’ means ‘Water is life’.
(I1) ‘sam na zo" means ‘Glass of water’,
(¥I1) ‘chi zo ma’ means ‘life of PI'.

Which of the following represents ‘PI’ in that language?
(A). hu
(B). mar

ey chi
(D). sam

73. Mary is walking towards South-West for 15 mi
miles, She then turns 90° Clockwise and wa
and walks 30 miles. Which direction is s
(A) East
(B) West
(C) South-East
) North-West

B22/SETD
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- ittal. Komal is the
74, There are six persons Ashwin, Kiran, Komal, Dipen, Esha and Mittal, K, ‘ ¢ Achwin
) . . . a s 0of AS
sister of Mittal. Kiran is the brother of Esha's husband. Dipen is the father

T o BT n ; er in the
and grandfather of Mittal. There are two fathers, three brothers and a moth

group. Who is the mother?
{A) Ashwin

(B) Kiran

(C) Komal ¢

(DYEsha

75. There are five friends - Satish, Kishor, Mohan, Anil and Rajesh. Mohan is the tallest.
Satish is shorter than Kishor but taller than Rajesh. Anil is little shorter than
Kishore but little taller than Satish. Who is taller than Rajesh but shorter than Anil 7
(A) Anil
(B) Kishor
(C) Rajesh

B Satish &

76. If 'green’ means 'red’, ‘red’ means ‘yellow’, 'yellow" means 'blue’, 'blue’ means
‘orange’, ‘orange' means 'black’, then the colour of sky will be -
A (A) Yellow i )
(B) Red
(C) Orange?
(D) Green

Directions: Choose the word which is aimost same in meaning as the word given

/.‘.‘.*‘f 76. RESTIVE
a) Pacific
b) Restless /
c) Tired ,
&) Irresistible |'r

77.GAUNT ~
a) Scrawny
Give
€) Suspicious
d) Grow
78.FROLIC
a) Fun
b) Froth
‘c‘j’{’[ay
d) Proud o
79.MOTTLED
a) Dapper
b) Dappled
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c) Bottled

4 Pint
80.NEOPHYTE

A Guru

b) Exper

¢) Parsimony

d) Fledgling

Directions: Choose the cormect pair of homophones to complete each given sentence

81.“She has a very slim ..... It seems feeding herisa ......"
a) Waist / waste«
b) Waste / waist
c) Waist/ waist
&Y Waste / waste
82."In ...... times we all share our ...... of cake.”
a) Piecel/pieces
_bY Peace / peace
c) Piece/ peace
d) Peace/ piece
83."0Onmy ...... to college, I'll visit the doctor and ...... the pros and cons of a
surgery.”
a) Weigh / way
b) Weigh / whey
¥ " Way/ weighc”
d) Whay / whey
84. "My pet cat was playing with the remote with its ...... and accidentally pressed
the ...... button.”
a) Pause/ pause
b) Paws /pause
c) Pause/peas
_dyPaws / poss »
85."The ...... used to go hunting at ..... ."
a) Nights / knights
_bY Knights / nights<
¢} Nights / nights
d) Nights / nites

Directions: Complete the following sentences, choosing the most appropriate word from
the options given.

86.To her teacher's surprise, as soon as Seema met her new friends she
abandoned her typical reticence and adopted a new, personality.
a) Garrulous

eproachful

c) Asinine
d) lrascible

87.In order to keep the audience’s attention, students were advised to avoid
discussion, and to speak only about subjects

to their report.
a) Brusque / mandatory &/ >
B22/SETD 14
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b)-Pigressive / tangential
c) Irrelevant / germane
d) Disinterested / Impartial
88. After being approached by a mendicant in the street, Jolty knew h
beyond the border which circumscribed the part of town.
a) Pleasant
b) Costly
c)yAltruistic
d) Affluent
89. Toxins released into the town's drinking water have had a effect on the
overall health of its inhabitants.
a) Potent
Y Deleterious
¢) Innocuous
d) Ravenous
90.Rowan gasped at pictures of the living conditions found in third world
countries.
a) Surreal
b) Splendid
¢) Squalid
/d)«"l'mpe-ccable

Directions: fill in the blanks with the correctly spelt word

e had ventured

91. The United Nations Organization was ........................... in 1945 with the
objective of averting another major world war.
Founded &
b) Funded
c) Fined
d) Fond
92 Every nationhas ........................... customs and traditions.
a) Its &
Py lts
c) Its’
d) Own
93. 1 will let you do this now but don't take it as a
let you do it again.
a) President ¢
b) Presedent
¢) Precedent
ﬂj/Precident
94.The ........... is survived by his wife and two children
a) Diseased ¢
by Deceased
¢) Decesed
d) Descesed
95 Asick manneedsa............... room.
a) Quit
/@/Quiie '
B22/SeT D 15
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c) Quitt
d) Quiet © _
96. We should arrive ..o
.. lunch,

a) In, to, at
b} Af, by, fore
_c}At, for, in
d) At in, for ' r,
97 Tr{ey live ................ a small one bedroom flat ......... ... the third fioo
a) On, on,
_b)-In, in
¢) In,one
d) On,in
98. Parts of the country are ......... sea level
-a) Below
b) Under
c) Beneath
d) Underneath
99.We arrived ......... to get good seats.
a) Ontime =
_b}yTimely
¢) Intime
d) Attime
100. She can play all the musical instruments
a) Beside
b) Besides
_c}yExcept
d) Not
Directions: Complete the idiomatic expressions
101. “Ok everybody, the lunch break is over, now get back tothe .......
a) Work #
b) Grind
—C-Mill
d) Hearth
102. “Did you get that job?” “No dear, | ...... it.”
a) Cracked ¥
b) Burst

—C)-Passed
d) Blew &

103. f . in there. Things should get better soon.”
a) Hang

<7_byHold
c) Stay
d) Stand ¢

104. Writers of his calibre are hardto ... by
a) Get
b) Meet

&+ Come

d) Stando

105. She
conirac was hot under the ., . when she heard that they had lost the

o theirplace ... , time

...... the violin

W22/SETD "
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a) Coat _
b) Collar <
c) Sleeves

dy+Head .
Directions: Fill in the blanks, choosing from the options given "
106. Inthe ......... the author states his intention in writing the book.

a) Forward
Ay Forword
c) Foreward <
d) Foreword
107. The museum curator discovered that the Persian vase was a ...

a) Forged ¢

b) Forge

c) Forgery
_d)-Forage

108. We know she is rich so she doesn't have to ......
a) Float
Y Flaunt
¢) Flash
d) Flout
109. Thatwasa....... abuse of his authority
a) Flagrant
b) Flagrent
_©Y Flamboyant

d) Fragrant
110. The child...... about in the water until the life guard reached him

a) Floundered
b) Foundered
c) Fumbled

_d) Freaked
76.  TREY & 3e3ra T Wh HeTHA &

a) arfa, Hrehd, rqsier, Bé
b) S, urfer, rasier, &
c) 39w, wifer, Wi, @Y
d)  arfer, s, g, EEr
77. m%‘awmmmmmﬁw

a) RA=AT
b)  FTTE

c)  eTATTed
d) @rgs

78. Y oA el e § 7
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a) WF

b) W

c) HIE

d)  ¥HORE

79. ARTRAT & § oo A §-
a) o

by A

cl d

d) T

80.  Tawr I ST " ETaN 7 Y E7
8)  F TETEl

b) Hega Gz g

€) WHF 7 BT

d) HTOT FaAT

81 FWH el dzEEt

a) e

b) =aa

c) TN

d) Fu/eaEy

82. R HA ot fr Fer e i
a) 50

b) 51

c) 52

d) 53

83.  IAITHS & Fay gar &7

a) FATAFE Y

b)  FITHER

c) A6 HR AL AT &

o AP

84 ﬁam#mﬁmg_
a) 32

o) 34

c} 33
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g 36

85,  YSIMEY UL B-

a) dcaH

b)  deHd

c) A

d) HHC

86. W@ # 3qEA §-
a) aH

b} AT

) HHO

d) 3]

87. =1 # A o aeg F € 3rvar T v AG B
a) reff

by  G9fEaEa

c)  E&N

d) el

88. AT Y T & a1y Faa vER F A &-
a @

b) =G

¢ IR

d) qryg

89. A AFmrsTaTy-
a) & H.9, 4

b)  3HE 3T,

)  HIFIFHK

d &I H
9. @ ReEctAYFamade HET T F TG Hriyo-

a) U e LT Fr A
b) T R HTe FAHT
¢ U fEa Hiew A
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91 a;ﬁﬁﬁﬁaﬁwﬁmg
a) ELtn
by AN
¢ E®E
d)  HIT
92. aTF & w6 A AT -
a)  + H
b) N+ 3
¢) N+ 3P
_dy a4 HE
93. S U FAC 8 WA & ISR AT T ARY F AT F PR TEA -
a) faftraras
b} faegaras
c) HRedId R
d) FoTargs
94.  ATFHAT H I I FAT ............ gl
a) farersr
by  faerwor
¢y fairsy. faewor
d)  FAH A HE A
95. TRE A st gftaw $r s -
a)  &fds
b)  H¥H
c) R
dy el
96. A RE # g v E -
a) Haf®r
b)  WErarelr
c) CER LT
9  EAETd
B22/SET D
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g7, Aawd ez ad i
a)  HA
b)  HIAH
¢  Taersor
d) =g
98. i T e RAArTF AT 74 -
a) THEE
b  AGOE
L
&) 308
99. ¥ # faeH e B
aj g
by  gud
¢y  Had
d) M7
100. 318 FT rgardr &-
a) H
b) &9
¢  dlar
d TR
101, 1A & #7191 v 3o Rrofards a8 i
a)  HA- HPH
b} FET- HET
c)  wg-HT
d)  HiEA- T
102. T TH &1 78 Hva Far1 &-
a) 3cHIE
b) ST
¢ fawAg
49 e
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105.

a)
b)
c)

d)

106.

a)
b)
c)

d)

107.

a)
b)
c)
d)
108.
a)

b)

¢

d)

B22/SETD
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B g T3T HTH FIAT

WA vt a2 F g gy

e & & | 2ree F 3t oreg -

v Y 3 At g e v e fyfare
i

KiGn

Ha

e
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e

109. ﬁa"fﬂm#ﬁmﬁmtmt

a) &

by &

c) GICH
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( POLITICAL SCIENCE )

111. The General Assembly of U.N.O. passed the Declaration of Human Rights

on
(A) 10 December 1949 (B) 10 December 1947
S4CY10 December 1948 (D) 10 December 1946
112.Which Lok Sabha would be framed from 2019 Lok Sabha elections:
AT Lok Sabha (B) 22nd Lok Sabha
{C) 16th Lok Sabha (D) 18th Lok Sabha
113. India has permanent membership in .. ..
9 A U.N.O. ‘ ABy-Geriéral Assembly
+ (C) Security Council (D)None of these
114.Who among the following advocated party less democracy in India?
(A) Mahatma Gandhi (B) M. N. Roy
_{C)daiprakash Narayan (D) Acharya Vinoba Bhava
115. President of India elected by ......
(A) Lolk Sabha Speaker —ByElectoral - colleger
(C) Prime - Minister of Ingja (D) Citizen of India”
116. Which two states has a common Capital?
(A) Bihar -U.P, AByHaryana - Punjab 7
(C) Gujrat — Punjab (D) Assam — M.P.
117. Maximum member of the Lok — Sabha are:
(A) 245 ABY550 2
1C) 150 (D) 534

118 How much is the quorum of a house of Parliament in India?
(A)1/2 of the total membership of house (B) 1/3 of the total membership of house
(C) 2/3 of the total membership of house (D)#10°of the total membership of house

119. WTO is the successor to which one of the following institutional

arrangements?
(A) World Trade Community (B) International Trade and Development

Association ‘
gﬁe’ﬁ%nem Agreement on Trade and Tariffs Mociation for Economic and Social
econstruction. /4-7- -
ﬁj 7]

120.The Accidental Prime Minister is a

(A) A book (B) A Street Play
Q(QA‘Movie (D) None of the above

121 Which Social Science is prior to political science in origin?

(A) Philosophy (B) History

(C) Psychology &(ET)'STosqology
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as been
122 The role of Finance Commission in Centre- State Fiscal relations has Deer
undermine by the ..... .
(A) The State Government
¢ (G)-Fhe Planning Commission

(B) The Zonal Councils _
{D) The Election Commission

123. A book Communist Manifesto written b'y...... .
(A) M.K. Gandhi (B) Atal Bihari Bajpai

(C) Rahul Gandhi {DyKarl Max

124. Constitutional Amendment Act 2018, stand for _ "
(A) Women Reservation in Parliament (B)  ST/SC and OBC Reservations
Empioyment

@ (C}Réservation for the economically (D) Muslims Reservation in employment

weaker section from the upper caste

125. Which of the following is not associated with the electoral reforms in India?

(A) Tar Kunde Committee (B) Dinesh Goswami Committee
(C)N=N. Vohra Committee (D) 1.G. Committee
126. Who described Indian Capitalism as Dharmshala?
(A) Narendra Modi (B) Gauri Lakesha
(C) Amartya Sen AbBytaski
127. In India Education is a ......
(A) Human Rights (B) Basic Rights
e (CYFundamental Rights 1 (@ (D)None of these,
128. Indiais a............
e (AyPemocratic Republican Society (B) Monarchical Scéiety
(C) Only Democratic (D) All of above

129. The Fourth Pillar of Democracy is .........
(A) Fundamental Rights (B) Human Rights

cwdia (D) ICT

130. The Panchayati Raj System is Included in the ..

(A) Union List o tate List
{ELConcﬂrrent List (D) Residuary List.
131, How many Asian Countries are members of G-207
7 % 0 (B)6
(C)8 (D)5
132.Dalit Panther Movement was launched in
AA) West Bengal ~{8YMaharashtra
(C) Bihar (D) Orissa
B22/SET A 2
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133. Max Webber's Theory of

. L

(A) Democracy (B) Nationalism ‘
’Lc}Bureaucracy (D) Socialism ~~
134.Untouchability has been abolished by the constitution of India. .....

(A) An!cle-m (B) Article-15

(C) Article-16 ~4D) Articte-17

135. Last Summit of NAM held at ..

(AJU.S.A. “BYMargarita Island in Venezuela

(C)Pakistan (D) India

136.Full Form of AAP

A) Academic Association Policy (B) Agrarian Association for Peace

(C) Aam Aadmi Politics zAD}&am Aadami Party

137. Women representation in 16th Lok-Sabhais.......

TAR) 45 (B)60_

{C>58 (Dy62

138. Smt. Soniya Gandhi is a

~AYFTSt Prime Minister of India B) Lok Sabha Speaker! -

C) First Governor of India € D)-President of INC
139. Scientific Method does not emphasise on ..........

T (A) Empiricism S By Values

(C)Facts (D)Objectivity
140. Birsa Munda was associated with tribal struggle of .......
(A) North-East Region ~B) Jharkhand

(C) Nagpur Division (D) Decan

141. Which of the following types of bureaucracy regards itself as the custodian of public
interest but is independent of and unresponsive to public opinion?

(A) Merit Bureaucracy (B) Caste bureaucracy
AC) Patronage bureaucracy _{Dy-Buardian bureaucracy
142. Which of the following is not a specialized agency of the United Nations?
(A) WHO BABYOPEC +
(C) FAO (D) IMF
143.Power is like money is formulated by .........
right Mills (B) Paul Sweezy

(C) Talcott Parsons (D) Ralph

47 144. Colour of the carpet of Lok-Sabha is........
[ (A White 87 Green

“1{C) Red /I[D} Black
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145. Nirmala Sitaraman 15 gy Défence Minister
« A) Education Minister : of Minister of Tamil Nadu
Governor of RBI D} Chief Ministe
C)

146. Who of the following gave the idea of dominant ;aste?
(A) Rajni Kothari (B) Paul R. rass
¢(€YM.N. Srinivas (D) Lloyd |. Rudolp

' Eactional Politics” in an "Indjan State”'?
(B) Myron Weiner
(D) S.K. Mitra

147 .Who is the author of *
(AYPaul R. Brass
(C)James Manor

148. Who among the following has made pioneering contribution in the area of

subaltern studies?

(A) Ramachandra Guha B)Ranjit Guha
(C) Rajni Kothari (D) James Manor
149_Eer Gandhi, Swaraj meant ......
M)S’eﬁ- rule (B)Rule of Law
(C) Rule by morally good persons (D) Pursuit of good of all
150. Which of the following countries has a simple constitution- amending procedure?
(A) U.S.A. (BYUK.
(C) India (D) France
151. Who among the following criticized Bentham's Philosophy as “Pig Philosophy”?
(A) Leslie Stephen (B) Karl Marx
(C) Carlyle (DYI'S. Mills
152. Present Secretary General of UNQ is .......
(A) Ban K| Moon (B) Barack Obama
«k3Y Antonio Guterres (D)R.S. Rose
153. Notion of uneven development was a response of the 19th century i
S ry ideas of......
,ggap_'t?{'sm (B) Evolution and Gradualism
ositivism (D) Anarchism

‘ 154. "Roses in December" is the autography of ..... ..
v (A) Maulana Abul Kalam Azad aB) Abdul Gaffar Khan

C) Hakim Aj
(C) Hakim Ajmal Khan _(@}MBhammad Karim Chhagala

155. Prime Minister of India is elec
ted b
(A) State Representatives )

AC) Elected by Electoral College %Iec{ed b cltizen of India

one of the above
156. Who appoints the Inter
_ - State i
Mpremdent of India Couneil?

(C) The Prime Minister (8) The Linion Cabinet
@Hﬁe Union Home Minister
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157. Which amendment of the Constitution of India fimits the number of Ministers:
(A)73 (B
(C) 87 Z (D)o
158. The most essential principle of Liberalismis ....... |
(A) Equality (B) Social Justice
o_{CyFreedom (D) Democracy

159. Who described the critical and creative role of politics in India as “The

Indian model of development'?
~AJ Rajni Kothari (B) Amartya Sen
(C) Jagdish Bhagwati (D) James Manor

160. Who among the following is the CI’WFO Base Budgeting?
(A) Hoover Commission eter Pyhrr

(C) Herbert Simon (D) Gug Peter

161. In which year the UN General assembly adopted the Convention on the
rights of person with Disabilities?

(A) 2006 482007

(C) 2008 (D) 2009

162, Which of the following country is not a member of SAARC?
“{A) Maldives Myanmar

(C) Nepal <¥(D) Afghanistan

163. Which is the following is not an organ of Kausalya's state?

(A) Swamie (B) Amatya

(C)Varna system (D) Danda.
p

164. Which of the following pairs showing the state and dominant caste is not

correct?

(A) Punjab — Jat, Sikh ~AB)Rajasthan - Rajput

(C) Kerala — Velma (D) Karnataka - Lingayat

165. Which political party is oldest?

) Indian National Congress (B) Samajwadi Party
(C) Bahujan Samajwadi Party (D) Bhartiya Janata Party

166. Who among the following was the chairperson of the states committee of

the Constituent Assembly?

(A) Dr.B. R Ambedkar (Mﬁ;wahar Lal Nehru

(C) Rajendra Prasad {B) Sardar Patel
167. In year 2016, SAARC Summit held in..... |
(A) India (ByPakistan ¢
(C) Nepal (D) South Africa
B22/SET A 5
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e in a state under Article 356

168. The maximum period of the President’s Rul

Can be:
(A) One year (B) Two years
ree years (D) Four years

169. The authority to declare war or peace under the Indian Constitution is

vested in:
(A) The Prime minister (B) The Defence Minister
(C) The Parliament o) (D}‘Tﬂﬁfesident
170. The Policy of protective discrimination seeks to promote:
(A) Formal Equality ﬂ’afBTSﬁg:Iantive equality
(C) inequality (D) None of these
9/
= 1
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